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UNIVERSITY OF NORTH BENGAL 

B.A. General Part-III Examination, 2021 

PHILOSOPHY 

PAPER-VII 
THEORETICAL AND APPLIED ETHICS 

Time Allotted: 3 Hours Full Marks: 100 

ASSIGNMENT 

The figures in the margin indicate full marks. 
Candidates are required to give their answers in their own words as far as practicable. 

 All symbols are of usual significance. 

 Prepare assignments on any four of the following  
preferably within 1000 words each 

িনmিলিখত pűgিল �থেক �য �কান চারিটর  উপর  
assignment ৈতরী কর pিতিট ১০০০ শেbর মেধ° 

25×4 = 100

1. Distinguish between moral and non-moral actions with examples. Which of 
these actions constitute the subject matter of ethics?— Explain. Are non-
moral actions immoral? Discuss.  
ৈনিতক ও অৈনিতক িkয়ার মেধ° উদাহরণসহ পাথর্ক° িনেদর্শ কর। এেদর মেধ° �কানgিল 
ৈনিতক িkয়ার আেলাচ° িবষয় �লখ। অৈনিতক িkয়াgিল িক নীিতবিহɛর্ত ? আেলাচনা কর। 

10+10+5=25

  

2. Distinguish between ‘Sakāmakarma’ and ‘Niṣkāmakarma’. Explain after the 
Gītā the concept of Niṣkāma Karma and its necessity for the attainment of 
liberation. 
‘সকামকমর্’ ও ‘িনŴামকেমর্র’ মেধ° পাথর্ক° উেlখ কর। গীতায় বিণর্ত �মাkলােভর জন° 
িনŴামকেমর্র তttিট আেলাচনা কর। 

5+20=25

  
3. What is ‘Non-violence’? Explain and examine Gandhiji’s concept of 

‘Non-violence’.   
‘অিহংসা’ বলেত িক �বাঝ ? গাnীজীর অিহংসার ধারণািট ব°াখ°া ও িবচার কর। 

5+20=25

  

4. Why do people commit suicide? Is suicide a moral crime? Explain and 
evaluate the arguments against suicide. 
আtহত°ার কারণgিল �লখ। আtহত°া িক ৈনিতক অপরাধ ? আtহত°ার িবপেk যুিkgিল 
পযর্ােলাচনা কর। 

6+4+15=25
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5. What is environmental ethics? Give a brief exposition of the main concerns of 

environmental ethics. 
পিরেবশগত নীিতিবদ°া বলেত িক �বাঝ ? পিরেবশগত নীিতিবদ°ার মূল pিতপাদ° িবষয়gিল িক ? 
�লখ।  

5+20=25

  

6. What is punishment? Explain different theories of punishment. Is capital 
punishment justified? Discuss. 
শািs বলেত িক �বাঝায় ? শািsসংkাn িবিভn তttgিল �লখ। মৃt°দč িক সমথর্নেযাগ° ? 
আেলাচনা কর। 

5+15+5=25
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